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PAPER 1: REASONING & ELEMENTARY MATHEMATICS
YST UF 1 ad SR gel T

MAX TIME : 2 HOURS ' MAX MARKS : 100
HA Y ;2 H | @ 3@ 2 100

(PLEASE READ THE INSTRUCTIONS CAREFULLY)
(e A<l @ ey 93)
INSTRUCTIONS
e

_— = =

1. Paper 1 has two paris : Pa'r‘tl&Part |
S U U9 @ QI HIT & : 91T 1 3R 977 2

(a) Partl: Reasoning (50 marks)
AT 1 : @ (50 marks)

(b}  Partll : Elementary Mathematics (50 marks)

HIT 2 @ qol 701
2 Each section cairies 50 objective type of questions.
AP T A a¥gTs YR & 50 U] QU Q¢ & |
3. There will be four possibie answers to every question. Candidates are

required to fill correct answer in the OMR sheet with Biack ball pen.
Q% U @ IR Q@ Ry 1y § | 3l awdaarR WEl Soe 3 uH IR e

(OMR sheet) 3 @et arer 39 | ¥ |

4. For each correct answer, 1 mark will be granted and C.5 mark wili be

deducted for every wrong answer.
y% 98 SaR @ fag 1 3 fear s 3k 0.5 3id rer s

3. If a candidate gives more than one answer, it will be freated as a wrong
answer and 0.5 marks will be deducted. There will be no penalty for questions left
unanswerea.
aﬁam‘eﬁwméﬁamwﬂ 3fed <dr & 1 98 Tad HET e 3R 0.5 3 drer

SLEH B

6. Candidates should not mark in the question paper. They can use blark

pages provided in the question paper for rough work.
efl ust U H [l avE o1 Dk forw T AN | % B B N uST um @ Wi el @il o

& SYGIT BN | |

4 To be eligible to qualify, candidate must obtain minimum 40% marks each

in Part | & Il separately and a minimum of 50% aggregate in total.
G‘cﬁﬂfa‘lﬁﬁﬁ‘waﬂaﬁﬂﬁaﬁ’fﬂvﬁ‘mﬂlWiﬂﬂllﬁ&aﬂmwﬁm40%aﬁ?q§m$m

&1 50% ur=r sifard 8 |




Part | : Reasoning (50 marks)
a1 2 a® (50 marks)

Q.1 Ais B's sister. C is B's mother. D is C's father. E is D's mother. Then how IS A

relatedto D ?

AB®ises2 ICBarai2 IDC & fuar e ED# wig |AarDwan

Rear 2 |
(@) Grandmother (b)  Daughter
(c)  Grandfather (¢y  Granddaughter
(@) =i (b) &
(c) = (d) dr=h

Directions: In the following questions you have to identify the correct response from the
given options according to following symbols :

fadw ffefen weat & Ry 7y wdie el & sFuR fd@e g |

Q.2. If ‘-’ stands for division '+ stands for subtraction, ‘+'stands for multiplication, "X
stands for addition, then which one of the following is correct ?
afe ‘- @1 awf fawreE, + @1 aief wer, @1 sk om aiR X @ 3f il a1 B
A =T |El &

(@) 70-2+4=5x6 =44
() *70-2+4+5x6 =21
(€) " *i70-2+4+5x6 = 341
(d) ~ “70-2+4+5x6 =36

Q.3 If '+ means '+ -~ means ‘+', ‘X' means -’ and +' means ‘X', then 8+4-6+3x4 = ?
anr '+ o@r et <+, Y @ awb ‘4, 'Y @ et Y, ' @ et ‘X @
8+4.6+3x4 = ?

(a) 4 (b) 14 (C) 28 (74) 30

Q4 If + means '+, - means X, + means + & ‘X means - then
36x12+4+6+2-3=7 :
TR ‘@ aref <, St ad X, Faraed ', X araet - ar36x12+4 +
6+2-3=7

(a) 2 (b) 6 (c) 18 () 42

Q.5 Which of the following interchange would make the equation 8x20+3+9-5=38
correct 7

frferRaa &F 7 g1 W @) Baga 9 wiayr 8x20+3+9-5=38 w& & |

(@ B3 (b (B35 () (3.9 (d) (3.8)




Q.6

| In the followmg question, by using which mathe

SXpression becom
e correct ?
9 At ¥ fope iy darert @ W | U8 srfyefae del Bl S |

matical operators will the

9 ? 27D 3 ? 4 ? 3

(@) +, + <andx
(b)) +, + >and X
() x, + =and X
(d) + + <and +

Q7 Select the word-pair in which the two words are related in the same way as are the

two words in the word- palr Spoke : Wheel
ArefifRea Rieedl 1wl @1 ar oirer g ot Spoke : Wheel @1 @%E amad H

Heiod g |
(a) Word : Sentence
(b)  Printer : Computer
(c) Square : Side
(d) Tree . . Branch

Q8 If1#3#7=21and12#1#3=36,then14#2#0=7
IRI1#3#7=21and 12#1#3=36,a1 14#2#0=7

@ 28 (,) 0 (o i6 (d) 7

Q.9 A man drives his car 6 km towards west, then turns left and drives 3 km and again
~ turns left and drives 3-km. Find out the final direction of the:man from his original.position. .

v afad AU BRuREd §'e fheidiex merdr-g bk 91g gedar ® ek 3 fbenieR
Ferar &, R a0 gedr § iR 3 fheMieR I @ | Al 3@ U YR T8 H i

feomr & & !
()  South-West | (b)  North-West
(c)  North-East (d)  South-East

Directions: In each of the following questions, a series is given, with one term missing.
Choose the correct alternative from the given ones that will complete the series.

e W@ﬁﬁﬁ@%ﬁﬂé%ﬁﬂﬁ@?waﬁqﬁ%% Ry 717 fawedl

q 91 G A S HEer B QR AR Q|

Q.10 56, 90, 132, 184, 248, ?.
(@) 368 (b) 316 (c) 362 ‘) 326
Q.11 14,19, 25, 49, 89, ? .

(@) 139 (b) 149 (c) 189 (7)) 169




Q12 225,289 2 441

(4) 361 (b) 375 (c) 383 (d) 386
Q.13 2,5,9, 2, 20, 27.

() 14 (b) 16 () 18 (d) 24
Q.14 1,6,13,22,33.?

@ 47 {(b) 43 () 46 (d) 44

Q.15 Select the set in which the numbers are related in the same way as are the
numbers of the following set. (16,64,8)

frfeRed Rieedi 9 o Rwes 941 o (16,64,8) 7 ave wafdd & |

(@) (1560,8) (b) (18,906) (c) (10,80,8) () (14,62,4)

Q.16 If SEVEN is coded as 23136 and EIGHT as 34575, wnat will be the code for
NINE ?
3R SEVEN @1 #1€ 23136 @ 2k EIGHT @1 @1 34579 2 ot NINE &7 3
T BA |

(1) 6463 (b) 6364 (c) 6346 (d) 6436

LR
ST ,""" l-".'_l"

Q.17. If in certain code, ‘EDITION’ is written as 3891965 then how ‘TIDE’ will be written
in that code ?

IR fBxr wre | § ‘EDITION’ 3891965 foar wirar @ @ ‘TIDE’ &7 e oo

SR |
(a) 3819 (L) 1983 (c) 1839 (q) 1586

Q.18. PROHIBITION is coded as 68032124205. How will you code INHIBITiON ?
PROHIBITION @1 @re & 680321242C5 | INHIBITION @7 ®1¢ gamei |

(@) 2531214205
(b) 2532125205
(c) 2542124205
(q) 2532124205

Q.19. If E=5, PEN = 35, then PAGE = ?
3R E=5, PEN = 35 a1 PAGE &1 #Is gdRl |

@ 27 () 28 () 29 (d) 30

/




Q.20_ If MEAT is written as TEAIVI, then BALE is written
R MEAT TEAM forar wiran & @ BALE @ ferr ST |

(@) EBLA () EALB  (c) ELAB  (d) EABL

Q.21 If MIGRANT is coded as LHFQZMS, then how will GEL be coded as ?
e MIGRANT @t @1e @ LHFQZMS @t GEL @1 pre ol BT |

@ QXK %) FDK (¢ IXZ (d) IFG

Q.22 B is twice as old as A but twice younger than F C is half the age of A but is twice
older than D. Who is second oldest ?

B & 97 A ¥ QI & afdd F & Q7
S R | E o W g e D B €

(4 B (b)) F © D (@ C

Q.23 Gopal said, pointing at Govind, "His father is my father's only son.” How is Gopal
related to Govind ? | |

| Prare 3 Mg @Y X% AT PRI gY PEl SHD frar Y foar @1 @ gheid §A € |
Mot &7 Mfae ¥ @ R g ?

(a)  Grandfather (b)  Grandson = (c)  Son () Father

(@) < (b) dr= (c) 9= (d) foar

() .24 : Five friends are:sitting on bench. A is.to the left of B .but on.the right of C..D is to
the right of B but.on the |eft of E. Who are at extremes 7 .
gl g RIS E 1A BB oA CIcfas | DB & gy e

EgQ4quz 2T BRI 9R B do1 ©

@) AB () AD (o BD (4 CE

0 25 A and R are brother and sister respectively. C is A’s father. D is C's sister and E is
D’s mother. How ic B related to E 7

Asik B o o eiRggd & | C A & faar & IDCastaga g | ED ol =
¥  Ba E A oo Rear g |

(1)  Granddaughter (b)  Great Granddaughter
(c) Aunt (d)  Daughter
(@) U= (b)  wdrEd

(c) == (d) a&@



ves more

Q.26 The salaries of B,R,G,A and M are compared with one-another, M recel lary of B

_Salary than that of A & G. The salary of R is less than the three persons. The sa
IS least. Whose salary is second lowest ?

B.R,G,A 3l Mot et o gt v qer 4 ) w2 1 M @ et A&
Caafs g | RAr et T am @ a9 2 | B 9 smwe-) 999 $A & |
ﬁ?ﬂ’cﬁaﬂﬂﬁaﬁﬁﬁw FH B |

@ M ® R () A (d) G

Directions In each of the following questions, select the related word from the given

alternatives :-

GERI e T Y warell ¥, Ry v fAeed & wald wes g |

Q.27 Timid : Ass Cunning : ?

(@) Ant ‘)  Fox (c)  Rabbit (d) Horse
0.28 Antonyms : Synonyms Analysis : ?

(¢)  Synthesis (b)  Synchronize (C) Simplify (d) Summarise

Q.29 Editor : Newspaper : :
(@) Farmer: Sell (b)
Q.30 Amnesia : Memcry ::

(a) Legs )

L
Wall : Masen (c)  Chef : Knife (71) Poet : Poem

Paralvsis : ?

Movement (c) Limbs (d) Handicapped
Q318 8 a8k 10: 7
(@) 100 (V%2 il 24 (), & 120 (d) 111
Direc'tions: Find the missing number from the given responses in each of the following
question :
s faRaa geat 3 TFAReIT e fRAeedi & g |
0.3283 2 1 /5 3 4
Nid \ &
35 126 ?/
(a) 90 (k) 91 (c) 103 (d) 75



N
N
—
|
=5
=] le)
VO

Q34 64 36 2
81 25 4
144 16 7
@ 6 () 8 (¢ 3 (d) 16

Q35
4 10 6
12 96 48
16 152 ?

(@ 110 (b)) 104 () 112 (d) 124

Q.36 | |
5 [4 41
15 6 ?
9 11 202

() 261 (b) 212 ((c) 209 (d) 122

Q.37 AC:CF::MQ:?
(@) QR (b) PQ (c) 0Q i) OR

Q.38 BECD : YVXW ::DGEF:?
(a) VRTS (b} WI1TVU (c) WUTV (d} XUWV

Q.39 The age of Ram is double as that of Shyam and half as that of Suresh. If the sum
of their age is 70. What is the age of Ram ?

1A DT I T W I E SR YR W I T | IR B SH BT e 70 T @y I
Dl IH qamRl | '

fa) 20 (b) . 30 (c) 40 () 10

Q.40 Anilis as much younger to Vivek as he is older to Tarun. If the total of the ages of
Vivek & Tarun is 48 years, how old is Anil ?
e 1T 97 4 A9 9§ BIeT & Saar € GO W w9 & | o R 9w iR awr @)
SH Bl IS 48 & O e &) 7 qa@i |

(a) 20 (b) 33 /24 (d) 18




Q.41 If a cat kills 4 rats in 4 minutes, how many minutes will it take 8 cats t0 Kill 8
rats ?

IR g Reeh 4 e ¥ 4 72 ard 2 @) frem e o 8 faweliar 8 =g AT |
(@) 8 (b) 4 c) 2 (d) 16

Q.42. The last three digits of the binary equivalent of the number 85432578 is ?

85432578 T dA1g% WHBE DI RIS o9 Iw=ar &1 s8I |
(@ 001 () 100 () 110 (7)) 010

Q.43. A man takes 6 Km distance to go around the rectangular area. If the area of the
rectangle is 2 sq Km find the difference between length & breadth ?

TP FfH T ATATHR 85 B IRBAT § 6 fhaMiey gordl & | 3R SMIATHR & P
gFBd 2 T fhaMier § O o e 3R drsls &l B garsll |

(@) 2Km (b) 0.5Km ‘) 1Km (d) 0.75Km

Directions: Which one of the given responses would be a meaningful order of the
foliowing words ?

fods ﬁéwﬁm‘fﬁaﬁqwﬁmwww%mﬂ g9TaT B |

Q.44. (a) Doctor (b)  Fever (c) Prescribe (d) Diagnose
(e) Medicine
(a) b,a,c.d,e (b) a,d,c b, e
()b d , e (@) b,d,c,e a

Q.45. (a) Brother (b) Husband (c) Father (d)  Son

(e) Son-in-law

() 32154 (b) 41253
€ 41523 () 31425

Q.46 Which of the following states the relationship between Sociology, Psychology
and Humanities ?

P I B TESERS,. AT 3R "Efder ® 9l F1dr g9idar & |

I (€ l (d) :

(a)
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&= =1 Tmpey g 2L
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Q.47  In the following figu
- employed ? - ¥

’e‘ﬂjﬁﬂﬁmw wai?ﬁé;iqf%w%ﬁﬁlaﬁzﬁquaﬁr@ﬁmm 2 Sl HIIRG S

/é\(,,—’v VWomen
o) TENED

il
L= I I —
M & T o oy el i b=t

-

_» Employed

@G- 7. ® 3 (@© 1 @ 8

Q.48 In Venn diagram the rectangle represents WOMEN, the pentagon represents

ENTREPRENEURS and the triangle represents MOTHERS. The numbers given in the
diagram represents number of persons in that category.

Gy iy 99 forx ¥ g wfdms o T 3 | GEBIeT ST BT 3 (sl AT BT I
=5 s‘rlmmr@rﬁ?ﬁ TS e 99 Ao # el @ egiar & |

=

How many WO_MEN are ENTREPRENEURS but not MOTHER ?

ot v e & o e & e 1
(a) 2:1 (by 74  (c) 50 (d) 4©

Q.49 Selectthe Venn diagram which best represents reiationship among the given three
classes ? MALE, FATHER, BROTHER

W%ﬂaﬁﬂﬁaﬁa’rm,fﬁm@aamﬁﬁmﬁ SoIaT &

(a) . '(b) | () l (d)

fé=~,aihibﬁﬁembér represents the women doctor who are not™ = =
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Q.50 Raghu and Babu are twins. Babu's sister is Reema. Reema’s husband ll'\s’ Barjja';l-
Raghu’s mother is Laxmi. Laxmi’'s husband is Rajesh. How IS Rajesh related tol ajan

T2 |?§aﬁﬂfa&1ﬂgl

7 3R 919 J=dT © | g7 @) 98 A 8 | A1 1 ufd XIS
J& &1 gfy woier g | el @ ot o ar Rear g 72

(a) Father-in-law (b)  Cousin

(c) Uncle (d) Son-in-law
(@) W (b) el

(c) = (d)  <mE

PART Il : ELEMENTARY MATHEMATICS

Q.51 On ajourney across Mumbai, a taxi average 25 km per hr for 50 % of the distance,

20 km per hr for 40% of it and 10km per hr for remaining. The average speed in (km/hr)
for the complete journey is ?

g@s‘ﬁwﬁwéﬁ50%@%%@%25%@%%@%%%@%40%

E%ﬁrqzo%aﬁﬁﬁﬁﬁrdﬂaﬂ?m%@fﬁﬁvwmhﬁauﬁa%aﬁwﬁ kel

@ 16 (b) 18 () 20 (d) 225

Q.52 Tha sum of twice a number and thrice its reciprocal is 25/2. What is the number?
uchaicpaﬁﬂwaﬂ#waﬁ?wﬁwzémmﬁmﬁmaﬁﬁfwmmﬂﬁwZSlZﬁm%ﬁ

e 3l a1 s |

(@) 7 (e) 6 () S d 4

Q.53 Find the wrong number in the sequence 5,10,17,26,38,50,65
= B9 H Tod ST Al |

@ 10 b) 26 (c) 38 (d) 65

Q.54 Three ngmbgrs are in the ratio of 3 : 4 : 5 and their LCM is 4200. Their HCF is ?
afe & st &1 s 3 0 4 0 5 8 ok ST TgH \HIAy 4200 B A IPT HEwWH WA

T BT |
(@) 70 (b) 60 (c) 20 (d 15
Q55 if x + y + z = 3 and x>y2+z2 = 101, then what is the value

OfJxB + y3 = 23 — 3xyz ?
IR X+y+z=3aRx2+y2+22=101a /x3 +y3 =23 — 3xyz & |

(@) 28 (b) 26 (c) 24 (d) 21



Q.SB_ ‘A’ does 30% of a work in 30 days. He then call ‘B’ and they together finish the
Temaining work in 20 days. How long B alone would take to do the whole work ?
‘A' 30 Y% &1 30 2= F @ar £ sk ‘B’ @ warr A PR dﬂfgsﬂzﬁmzoﬁﬁﬁwm%‘ | 3l
B' &1 arr w1 w1 Fwen @1 A b wid SRR

(@) 40 (b) 80 (c) 120 (d) 160

Q.57 In a class of 60 students, 40 % are girls. The average weight of the whqle class is
59.2 and the average weight of the girls Is 55 kg. What is the average weight of the

boys ?

Uh Hell H 60 o= ¥ Rt 40% rsfear g | <peTT @ T dedl mlaﬂﬂﬁm59.2 ﬁv—oﬁwéaﬁ-\r
refpal @ alaa dor 55 fhelium & |a€aﬁwaﬁwmw*€l |

(@) 61Kg (b) 62 Kg (c) 63Kg (d) 64Kg

Q.58 |If for two real constant a and b, the expression ax3+3x2-8x+b is exactly divisible Dy
(x+2) and (x-2), then |
s 2 R P a4 3R b g 3R FHIeR 23+3x2-8x+b & e ¥ (x+2) 3R (x-2) ¥

farnfora gl 8
(a) a=2,b=12
(b) a=12,b=2
(C) a=2b=-12
d) a=-2b=12

Q.59 The ratio of age of two boys Is 5:6, after two years the ratio will be 7:8. The ratid of

their age after 12 yrs will be ? . |
21 <redi @ S BT AU 5:6 & IR > < HTSl. qTe g8 urc 7:8 &1 12" ¥lel 915 I A4 9491

BITT | R
(a) 21122 (B ASIME s TARE T8 ) A2 s
Q60 Ifx =2+ V3 ,then the value of x2-x+1 is ?
X2+ Xx+1
ame x = 2 4+ V3 @ x2x+1 1A FTET |
x%4x+1
(a) 2/ (b) Ya (C) 4ls (d) 35

Q.61 A canister holds 36 Itr of mixture of milk and water in a ratio 3:1. 15 Ltr of milk is

added to the canister. The new ratio of the mixture is 7
@gﬁtﬂﬁaeaﬂawsﬁ?wﬁmaﬁa&hﬁmﬁ% | 15 dliex 3k g |lefd UR a1 AT
G2l l | -

(@260 (b) 14:3 (c) 74 (d) 94

Q.62 If the diameter of a wire is decreased by 10%, by how much percent (approx) will

the length be increased to keep the vol constant ?
AR U OR @ AT Bl 10”/umm%ﬁwa%am§ﬁmﬁ’rmq@ﬁaﬂwwq
gcal |

| (@) 5% by 17 % (c) 20% (d) 23%




Q.63 In statistics, a suitable graph for representing the partitioning of total into subpart

IS ?

A& Afs § up U YETh] SiY @1 el &) RS & &1 del gfafAferca ol &l |
(@) Anogive (b)  a pictograph (c) a histogram (d)  a pie chart

Q.64 The ratio of the outer and inner perimeters of a circular path is 23 : 22. Ifthe
path is 5m wide, the diameter of the inner circle is 7 |
U TMATHIR W s ol qTex @1 dRriey 23 ;22 arura 2 3R IR & Aere S W E
ar ofeN drel NI T T T BI |

(@) 55m (b)  110m (c)  220m (d) 230m

Q.65 Ramesh marks his goods 30% above cost price. If he sells the item for 910/- after
allowing a discount of 15%, find his cost price ?

AN A A A P 30% e BIoar & iR 9 w9 15% @ ge od §Y 910 P U &
SHD! WS DI fhad @1 2 |

(a) 8235 (b) 758 (c) 814.2 (d) 856.5

Q.66 The top of two poles of height 24m and 36m are connected by a wire. If the wire
_makes an angle of 60° with the horizontal, then the length of the wire is 7

24 A1eX 3iX 36 A JA1E @ 3 @MW U, aR W 9 & R AR &fIST | 600 BT BIVT 41 & T TR
d F9rg 1 B |

(a) 6m (b)  8m (c) 8vV3m (d)  6V3m

“Q.67 “Find the value of 2.8 + (5.2 +1.3X2) — 6X3 = 8 + 2
. .2.8+(5.2+1.3X2) —6X3 + 8 + 2 GHHXI Bl SR bred |

(a) 6.45 (b) 4.55 (c) 8.45 (d)  10.55

Q.68 if the opposite sides of a quadrilateral and also its diagonal are equal, then each
of the angles of quadrilateral is ?
| U IgYS B fAudd ver avreT g iR SEa! <l fddot ) aRieR 8 o S9@ B w®r 'ht |

(@) 900 (L) 1050 () 120° (d) 60°

Q_.69 The sum t_:-f two positive nurnbers is 20% of the sum of their square and 25% of the
difference of their squares. If the numbers are x & y then x +y is equal to ?

)(2

a’rﬂaﬂm'fqasaiaﬁzﬁrmaﬂ?ﬁmﬁzﬁu‘m@l2o%aﬂvmﬁ$waﬂzs%§wﬁaﬁ5xaﬂ?y
g df X +y &1 BI |

%2
(@ 1/4 (b)  3/8 (c) 1/3 (d) 2/9

(218.70 Find length of the arc whose central angle is 45° and radius of the circle is
cm ?

U g ol Biaan 28 A<ier @ o S99 o9 &) THETS T 8 G HEg I 450 BT g9 8 |

@ 11 (b) 22 (c) 33 (d) 44




are in the ratio of 10 : 21. If 15 is added to each of the original number then the ratio
becomes ?

ﬂﬁwﬁma@vﬁs:sﬁémwammmwm10:21%%@1-«15%
ST e # Siies oy A 3fe Bl JuTd adr B |

@ 5:7 (b) = 23.:.33 (c) 4:5 (d) 24:35

Q.72 114 sweets are distributed among 20 children such that each girl gets 6 sweets

and each boy gets 5 sweets. The number of boy is 7 I y
114mzoaﬁTﬁwaﬁaﬁﬂﬁﬁ%aﬁﬁa@ﬁaﬁssﬂ?sq ged P 5 Ao el | <@
P G- BT gaT sy |

(a) 6 (b) A7 (c) 8 d) 9

Q.73 If a sum of money on compound interest becomes three times in 4 years, then at

the same interest rate, the sum will become 27 times in ? |
afe &R T6 ¥ qw eI gwafdy rer oY 4 AT 8 e & Y SH @ WY 27 AT fee 9 A
gl |

(@)= wlS Years (b) 16 Years (c) 12 Years (d) 10 rYear’s.

Q.74 Simple interest on a sum for 10 years is equal to 5% of the principle. In how years
‘interest will be equal to the principle ?

wmﬁrwwm1oaﬁﬁq§rm5%@mé | fpa auf # & [ D WK B
ST | .

@ 100 (b) -.156° (c) 200, . (d) ..250

Q.75 Inafarm there are cows and hens:.:|f heads are counted they. are 180 if Iegs are+; -

“counted they are 420. The number of cows in the farm is ?

@@ﬁﬁmaﬂvwﬁmﬁWﬁrtﬁfﬁ?ra%ﬁmﬂ’raﬁmﬁﬁao@?ﬁ%aﬁ?ﬁtﬁﬁ&ﬁﬂ
420 TRI} &) HE&AT BT Ul Sy |

(@) 150 (b) 130 (c) 50 (d) 30

Q.76 The sum of three consecutive integers is 81. The middle one is ?
&9 BaaR quife &1 anr 818 | 791 &1 QUile &l & |

@) 24 () 25 () 26 (@ 27

Q.77 Iffy = V4 — V6 then find the value of (y2-20y+12) ?
IR [y = V4 — V6 & ar (y2-20y+12) & Heu &1 gar s |

@4 b 8 (@ 10 e

Q.78 The average of prime numbers between 1 and 30 is ?
1 ¥ 30 Tb P MTSd FE3N DI AT FAT B |

@ 113 (b) 127 (c)  12%0 (d) 127




Q.79 A man covered a certain distance by a train running at the speed of 50 kn_1/h and
Covers the same distance by walking back at the speed of 5 Km/h. If the whole journey
took 5 hr and 30 min, then what was the distance (in Km) of one side

TP A 50 froiiey Ry Her @ T ¥ ge arel Yo | Wy A Byl & R A 4T AT 5
fheinfier ufy Her 7y | xar & 3R PR 3H o1 § §@d a8 5 T 30 e & @ U6 TG @

B D] ad=Ts fba+l & |

(@) 18 (b) 20 (c) 25 d) 30

Q.80 A fruit seller has a certain number of apples of which 5% are rotten. He sells 75%
of the remainder and he is left with 190 apples. What was the intial number of apples with
fruit seller ?

U5 Bl o & U 3o 39 & el ¥ 5% wxe € | 99 gY 99 A @ 75% I 3 9% 9D
ORI 190 V9 §T0 & | A B @ U YHard A fhad w9 o |

(@) 1000 (b) 900 (c) 800 (d) 700

Q.81 A certain number of men complete a work in 60 days. If there are 8 more men, the

work can be finished in 10 days less. The number of men originally is ?
$B IEH TS B I T S A 60 o wna%‘maawﬂaﬂ?ﬁaaﬁa’rzhé’rwwﬁj
Ugel R 8 Wi | S o anefEl 3 go fear on |

@ 30 (© 32 () 36 (d 40

Directions : The following pie chart shows the expenditure (in percentage) of five

.companies P,Q, R, S and T in one year 2020 ?
frdwr Ry ge wiE =€ 3§ Ui il & @9 B [9aRYT [rer 2020 @1 fear mar §

/

Total expendiitie -48 Cr T 20% P 24%

&l @dl - 48 TS
S 16 %
\ / 22%
Q‘% ®
)

Q.82 What was the total expenditure in (Rs Cr) of the company Q, R & T together ?
Q, R3R T x4l &1 oo @@=l (F9s! #H) fhasn g |

@ 192 (b) 282 (c) 24.3 (d) 314

Q.83 By how much percent expenditure of company Q & R together is greater than that
of company P ?
Q IR R &1 &« @=l P & ooy afdwa saer g |

(@ 3333% (b)) 60% (c) 66.67% d)  75%

Q.84 The sum of two numbers is 1215 and their HCF 1s 81. How many such pairs of
numbers can be formed 7

3) 3B DI AT 1215 & AR ISP STAH M SRS 81 & | Le, fbaa WIS 99 Ghd & |
(a) 3 (b) 4 (c) 6 (d) None of the above



85 The curved surface area of a cylinlder is 594 cm? and its vol is 1336.5 cm®. What

is the height (in cm) of the cylinder ? |
(P Rel~eY &1 graer bae &5 594 cm?2 ik gua@! i A 1336.5 cm® el & g
Sars fha & |

(@ 114 (b) 21 (c) 245 (d)  10.5

Q.86 Dinesh can row at 18 Km/h in still water. If speed of stream s 6 Km/h, ’{hen how
long will Dinesh take to row upto a distance of 6km and return to the starting point ?

Ber Rere o) 18 freli¥iey URY Her 9 YBaR & W (row) & Gaar & | 3R Il DI AT 6
Bhaiier ofy Her & fra @ Ry 6 fhdniley @ g@l T¥ @R IO URMS W WA

WG |

(@) 40 Min (b) 45 Min (c) 50 Min (d) 52 Min

Q.87 If3V5+ V125 = 17.88, then what will be the value of V80 + 65
3R 3V5 + V125 = 17.88, o /80 + 6V5 & |

(@) 13.41 (b) 2046  (c) 2166 (d)  22.35
Q.88 Water contains 142/7 % of hydrogen and the rest is oxygen.  In 350g of water,

oxygen will be ?
qrft § 142/7 % wreeor iR aTe Araiio & | 350 UM UM A SRS 341 g1 |

(a) 300 (b). . -250 (c) 200 * (d) None of the above.
Q.89 . Two chords, AB and CD of a circle meet at a point O, outside the circle. It is given
that AB = 7cm, CD=4 cm, OB="5 cm. What is length of OD? =~ SN R
AB 3k CD v e @ & war & 3k fig S e ¥ eR @ R fAed &1 evr AB = 7cm,
CD =4 cm, OB =5 cm & a OD & warg @ grfl | | < |

{a)a= wbicm (b) 6cm (C) 7.5cm (d) 10 cm

Q.90 The area of smallest square which can be formed with rectangle cf dimension
6cm X 4cm, is ?

6cm x4gm‘znﬁi AT § HEY BIET I BT &83%d 947 B8IT |

(@) 16 cm? (b) 24 cm? (c) 36 cm? (d) 144 cm?



Q.91 if AB is parallel to HG, what is the value of a 7
R AB 3k HG wm=R &, ) @ &1 ed @l & |

@ 15 () 25 () 75 (d 95

Q.92 Iftan (8/2) tan (28 /s) =1, what is the value of (in degree) 6 7
arR tan (8 /2) tan (48 /5) =1, a1 6

(@) 450 (b) 90° (c) 100° (d)  120°

Q.93 If cos 6 = 3/5, then the value of sin B is 7
TR cos O = 3/5, a1 sin O zar 8r I |

(a) 2/5 (b}  4/5 (c) 2/3 (d)can not be determined

Q.94 If x (3-%/x) = ¥/x, then the value of x2 + 1/x? is
MR X (3-2/x) = 3/xat X2 + 1/x? &1 A &1 &R |

(@) 2% () 2% (c) 3 (d) 3%

Q.95 A wellis dug 20 m and it has a diameter of 7m. The earth taken out is spread as a
regular plot V22 m X 14 m dimension, then height of the platform formed is ?

U&7 IR AN H HAT 20 Hiex Wigl o & AR el T el o V22 m X 14 m @ qEs
R B fear @@y & | 59 e @ Sarg fha g8t |

(a) 2.1m (b) 2.9m {(c) 2.9m (d) 3.5m

Q.96 The efficiencies of A, B and C are in the ratio 5:3:2 working together, they can

::onk‘l%lete a task In 21 hours. In how many hours will B alone complete 40% of that
ask %

A, B3R C & germ 5:3:2 & argura # 2 | U wre &id Y §U A Uh B Y 21 6 F HR W
g | B aa 40% & = wet F s |

(@) 28 (b) 24 (¢c) 21 (d) 35

Q.97 Which of the following statements i 5
fou T gaqedl § F B AT Mol 2 n not correct

(a) [091{]10 = 1

(b) log (2+3) = log (2x3)

(c) log101 = 0

(d) log (1 +2+3) =log 1 + Iog 2 + [09 3



Q.98 A boat takes half time in moving a certain distance downstream than upstream
The ratio of the Speed of the boat in still water and that of the current is ?

(P 1q SEYAIE A 9T SaTg @ afRad QA i okl & dl 99 a0 & ReR a3k g
G @ TS BT qar s @ |

@ 21 () 43 () 12 (d)  3:1

Q.99 Find the value of x ?
X BT Gdl ] |

Lng\/g = 1/4

@ 9 (b) 3 c) 4 (d) 1
Q.100 The mean proporticn between (8 + /15 ) and (32 — 4,/15) is ?

AR (8 +4/15) 3R (32 — 4v/15) @1 aiad arura &N |

(@ 14 () 13 (@ 12 (@) - 11
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